	Study Period
	 
	    No. of Blood Stream Infections per 1000 Days
	
	

	
	 No Hospitals
	 Overall
	 No Hospitals
	
	Collaborative
	 No Hospitals
	 Toolkit
	Collaborative vs Toolkit P-value (two-sample Wilcoxon test)

	                                                                                   median (interquartile range)

	Baseline
	51
	2.2 (0-3.9)

mean 3.2

pooled mean 2.5

%0 : 29.4
	25
	
	1.6 (0-3.6)

mean 2.0

pooled mean 1.8

%0 : 36.0
	26
	2.6 (0.9-6.3)

mean 4.4

pooled mean 3.1

%0 : 23.1
	p=0.133
baseline comparison

	Months After Randomization
	
	
	
	
	
	
	
	

	1-3
	58
	2.3 (1.2-4.6)

mean 3.6 

pooled mean 2.6

%0 : 20.7
	30
	
	2.2 (1.3-4.6) 
mean 3.0

pooled mean 2.4

%0 : 20.0
	28
	2.5 (1.1-5.0) 
mean 4.3

pooled mean 2.8

%0 : 21.4
	

	4-6
	57
	2.3 (0-3.7)

mean 2.6

pooled mean 2.7

%0 : 33.3
	30
	
	2.2 (0-3.6) 
mean 2.3

pooled mean 2.5

%0 : 30.0
	27
	2.5 (0-4.7) 
mean 2.9

pooled mean 3.0

%0 : 37.0
	

	7-9
	55
	1.6 (0-3.8) 
mean 2.9

pooled mean 2.3

%0 : 34.5
	28
	
	1.9 (0-3.6) 
mean 2.5

pooled mean 2.1

%0 : 32.1
	27
	1.0 (0-3.8) 
mean 3.3

pooled mean 2.5

%0 : 37.0
	

	10-12
	57
	1.2 (0-3.1) + 
mean 2.4

pooled mean 2.2

%0 : 33.3
	29
	
	1.2 (0-2.7) 
mean 1.8

pooled mean 1.7

%0 : 31.0
	28
	1.2 (0-3.5) 
mean 3.1

pooled mean 2.6

%0 : 35.7
	

	13-15
	55
	2.1 (0-4.4) 
mean 2.7

pooled mean 2.5

%0 : 30.9
	28
	
	2.4 (0-5.4) 
mean 3.3

pooled mean 3.0

%0 : 32.1
	27
	1.8 (0-3.0) ++ 
mean 2.1

pooled mean 2.1

%0 : 29.6
	

	16-18
	52
	2.2 (0-5.3) 
mean 3.2

pooled mean 2.8

%0 : 30.8
	27
	
	2.8 (0-4.6) 
mean 3.5

pooled mean 2.8

%0 : 29.6
	25
	1.2 (0-5.5) 
mean 2.8

pooled mean 2.7

%0 : 32.0
	

	19-21
	58
	1.6 (0-3.5) 
mean 3.2

pooled mean 2.6

%0 : 31.0
	30
	
	1.3 (0-2.3) 
mean 2.4

pooled mean 1.8

%0 : 36.7
	28
	2.3 (0.7-4.7) 
mean 4.1

pooled mean 3.3

%0 : 25.0
	


 Differences between post-randomization quarters and the baseline quarter were tested using two sample Wilcoxon rank sum tests (all p > 0.05) and a two sample paired Wilcoxon rank sum tests (+ denotes p < 0.05 and ++ denotes p < 0.01). 

	Study Period
	 
	 No. of  Ventilator Associated Pneumonia per 1000 Days
	
	

	
	 No Hospitals
	 Overall
	 No Hospitals
	
	Collaborative
	 No Hospitals
	 Toolkit
	Collaborative vs Toolkit P-value (two-sample Wilcoxon test)

	                                                                                   median (interquartile range)

	Baseline
	51
	3.7 (0-6.2)
mean 4.2

pooled mean 4.2

%0 : 33.3
	25
	
	2.3 (0-6.1) 
mean 3.5

pooled mean 3.6

%0 : 32.0
	26
	3.8 (0-6.8) 
mean 4.8

pooled mean 4.6

%0 : 34.6
	p=0.691
baseline comparison

	Months After Randomization
	
	
	
	
	
	
	
	

	1-3
	60
	3.2 (0-8.9) 
mean 5.7

pooled mean 4.7

%0 : 31.7
	30
	
	2.8 (0-8.9) 
mean 5.4

pooled mean 4.4

%0 : 36.7
	30
	4.7 (0.3-8.7) 
mean 6.0

pooled mean 4.9

%0 : 26.7
	

	4-6
	58
	4.0 (0-7.8) 
mean 5.5

pooled mean 4.6

%0 : 32.8
	30
	
	2.9 (0-7.2) 
mean 4.7

pooled mean 4.0

%0 : 40.0
	28
	6.5 (1.5-9.1) 
mean 6.4

pooled mean 5.4

%0 : 25.0
	

	7-9
	56
	2.5 (0-5.7) 
mean 3.4

pooled mean 3.2

%0 : 42.9
	28
	
	1.4 (0-4.0) 
mean 2.7

pooled mean 2.7

%0 : 50.0
	28
	2.5 (0-6.5 ) 
mean 4.1

pooled mean 3.6

%0 : 35.7
	

	10-12
	57
	2.7 (0-4.7) 
mean 3.8

pooled mean 4.4

%0 : 33.3
	29
	
	2.8 (0-4.5) 
mean 3.9

pooled mean 3.9

%0 : 34.5
	28
	2.7 (0-4.7) 
mean 3.6

pooled mean 5.0

%0 : 32.1
	

	13-15
	55
	3.1 (0-5.4) 
mean 3.8

pooled mean 4.2

%0 : 32.7
	28
	
	1.9 (0-4.1) 
mean 3.2

pooled mean 3.6

%0 : 42.9
	27
	3.8 (1.1-6.6) 
mean 4.3

pooled mean 4.7

%0 : 22.2
	

	16-18
	52
	2.6 (0-7.7) 
mean 5.1

pooled mean 4.8

%0 : 34.6
	26
	
	2.9 (0-8.5) 
mean 6.0

pooled mean 5.2

%0 : 30.8
	26
	2.3 (0-6.3) 
mean 4.2

pooled mean 4.6

%0 : 38.5
	

	19-21
	57
	2.0 (0-4.8) 
mean 4.3

pooled mean 3.4

%0 : 40.4
	29
	
	2.1 (0-4.2) 
mean 2.7

pooled mean 2.9

%0 : 37.9
	28
	1.4 (0-5.7) 
mean 5.9*

pooled mean 3.9

%0 : 42.9
	


Differences between post-randomization quarters and the baseline quarter were tested using two sample Wilcoxon rank sum tests (all p > 0.05) and a two sample paired Wilcoxon rank sum tests (all p > 0.05). 

